3P 2 AR IREESIEDRTEFKRE S F(KP )

e
B PE 5
% &+ - v 1 8= AN
RN ARG~ R T
34 | om 2 | 1~ | 1~ 1A 104
7 . . .
A& TR 0 | 2.8 2 1.8 | 0.9 | 1 | o 75
ALR & 3 2 2 1 1 1
A2%. 7 | 208 | 2.8 | 1.8 1.9 | 0.7 | 1 0.9 9.1
A3 % | 208 | 2.7 | 1.8 1.8 | 1 1 0.9 9.2

%

2 |Ale 7| 109 | 3 1.9 2 1 | | 9.9

i#

@ |A2e | 211 | 3 1.9 2 1 1 1 9.9
A3e 7| 211 | 2.9] 1.9 1.9 | 1 | | 9.7
M IR | o, [ 27] 1.9 1.9 | 0.9 | 1 1 0 6
AL%* Ry 2.9 1.9 2 1 | |
A2%R | 312 |29 1.8 1.9 | 0.9 | 1 0.9 9.4

Ly |RE T e
= | > c o B oz TN
RIFF g IP s B2 G ] F * =% 2
I % A AT~ R T S
B A A 14 14 14 104

= |BLA 7R | 314 | 2 1.7 2 | 0.8 | 1 0.9 8. 4

=

% B2% % | 308 | 3 1.9 2 1 | | 9.9

T |B3d~ | 308 | 3 2 2 1 1 1 10
Bla | 109 | 2.5 2 2 1 | | 9.5
B2a ¥ | 301 | 2.2 | 1.2 1.5 | 1 1 0.5 7.4
B3a % | 301 |2.2| 1.4 1.5 | 1 1 0.7 7.8




B PR B3
<] . ,
= |, R F vR 123z & A
B FfT fr Z T F_RR ~ AR e
RPA A A 14 14 14 104
#H[C1K 5 B | 112 | 2.9 1.8 1.7 0.9 | 0.9 9.2
7
B C24 % | 108 | 2.5 1.5 1.5 0.9 | 0.6 8
4
C34 % Fy| 108 | 2.8 1.7 1.8 0.8 | | 9.1
Cla + | 310 | 2.9 2 2 1 1 | 9.9
C2a % | 101 | 2.9 1.7 2 1 1 1 9.6
C3ea = | 101 | 2.9 1.7 2 1 1 1 9.6
i PR s+
2 JUN A= ] Z vk 1Bz AN
o 3% 2% 25 14 14 14 104
1t .
m| TR 313 | 2.5 1.4 1.8 0.7 1 0.8 8.2
RS SR
= B
& R 113 | 2.8 1.8 1.8 1 | 0.9 9.3
=
clEE R
& 5 R 213 | 2.8 1.9 2 0.9 1 0.9 9.5
£l
B Brs 2F
’/‘ * JR 102 | 2.9 1.9 1.8 1 1 1 9.6
=5 ,
EE B 2 F
1 7 R 102 | 2.8 2 2 1 1 1 9.8
| B+% 3F
* Jp 103 | 2.8 1.9 2 1 1 1 9.7
B 3F
7R 103 | 2.8 1.9 2 1 1 1 9.7




£37 2 AR 25 EF IS PR IEFRESF(F 7 )

Foot -

o [EE P ® L
# SIFF é 7 T4 [ e B T F A& 1% i)

L FLin
34 QL A 14 14 14 104
DI& 7| 506 2.6 1.7 1.5 | 0.9 | 1 0.7 8. 4
DI& 4| 506 | 2.6 | 1.7 1.7 1 | 0.8 8.8
D24 7 7| 505 | 2.8 | 1.8 1.8 | 0.9 | 1 | 9.3
D244 | 504 | 2.7] 1.8 1.2 | 0.9 | 1 0.9 8.5
g (D3R T | 502 [2.6] 1.2 1.5 | 0.7 | 1 0.9 7.9
o [D3K % | 502 | 2.7 1.6 1.8 | 0.7 | 1 | 8.8
D4k 9| 501 [2.5] 1.8 | 1 | | 8.3
B IDA& % | 503 | 2.6 | 1.6 1.7 | 0.6 | 1 0.7 8.2
D54 7| 60l [2.6] L5 | 1.5 | 0.9 | 1 0.8 8.3
S D5k L p | 601 | 2.6 1.7 1.6 | 0.8 | 1 0.7 8. 4
D64 7 /5| 602 | 2.6 | 1.6 1.5 | 0.9 | 1 0.9 8.5
D64~ | 602 | 2.8 | 1.8 1.5 1 | 0.9 9
D74 77| 603 [ 2.5] 1.5 1.5 | 0.9 | 1 0.9 8.3
D74~ | 603 | 2.9] 1.8 1.8 1 | 0.9 9. 4
é_zr. =] all AN 3 B L vk 1 B = A

L ; T |4 gae| 0 || T T
BREEEE on | 14 | 1A 12 104
DIe 9| 406 | 2.5 | 1.7 0.5 | 0.8 | 1 0.8 7.3
DI& ~ | 405 [ 2.6 | 1.8 1.7 1 1 1 9.1
D2& 75| 404 | 2.4 | 1.6 1.5 | 0.7 | 1 0.9 8. 1
w[D2a ~ | 404 [ 2.7 1.8 1.5 1 1 0.8 8.8
% (D35 7 py| 403 [ 2.6 1.8 1.9 | 0.8 | 1 0.8 8.9
BIp3a | 403 [2.9] 1.9 1.9 1 1 1 9.7
7; DAG 7| 402 [2.6 | 1.7 L7 | 07| 1 0.7 8. 4
,%H D4 G 4w

LA R 400 | 2.7 1.8 1 1 1 1 8.5
D5& 7| 606 | 2.4 1.7 1.9 | 0.8 | 1 0.7 8.5
D5& ~ B | 606 | 2.6 | 1.7 1.6 | 0.7 | 1 0.7 8.3
D6& 9 )| 605 | 2.7 | 1.7 L7 | 0.7 | 1 0.7 8.5
D6& ~ | 605 | 2.8 | 1.9 1.9 | 0.8 1 0.9 9.3
D7& 9 | 604 | 2.1 1 .2 | 0.7 | 1 0.7 6.7
D7& % ) | 604 1 0.7 | 1 0.8 6.5




